7= SetOptions[Plot3D(*0r whichever plot you desirex),
ColorFunction - "Rainbow"(*One of many options#)];
color[{x_, y_}] :=Hue[(Pi +Arg[x+y I])/ (2 Pi)l;

inf09= SetOptions[ContourPlot(xOr whichever plot you desirex),
ContourStyle » {Red}(*One of many optionsx)];
SetOptions[ContourPlot3D(*Or whichever plot you desirex),
ColorFunction - Red(x¥One of many optionsx)];
color[{x_, y_}] :=Hue[(Pi +Arg[x+y I])/ (2 Pi)l;

(* Intro %)

Infe J:= P'Lot3D[{x2 +y’-1- xM (2] 3)* y}, {x, -3, 3}, {y, -3, 3}, BoxRatios » Automat‘ic]

2 0 -2

Out[* ]J=




2 | 173iftnb

In[{1]:= ContourP'l.ot[{x2+y2-1-(x"2)’\(1l 3)*+y}, {x, -3, 3}, {y, -3, 3},

BoxRatios - Automatic, ColorFunction - "Rainbow", ContourStyle -» B'Lack]

out[11]=

- ContourPlot[x* +y? =1=(xA2)A(1/ 3)*y == 0, {x, -2, 2}, {y, -2, 2}]

27\ T T T \7

Out[13]=

-2 -

(* 1 %)



173itnb | 3

nesi- f=yArA3+y-x
Plot3D[f, {x, -3, 3}, {y, -3, 3}, BoxRatios » {1, 1, 1}]
ContourPlot[f == 0, {x, -2, 2}, {y, -2, 2}]

oulzs- —X+y+y>

Out[26]=

=

out[27]=

-2
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o= F=XA3+yA3-6x*y
Plot3D[f, {x, -1, 4}, {y, -1, 4}, BoxRatios » {1, 1, 1}]
ContourPlot[f == 0, {x, -1, 4}, {y, -1, 4}]

outaol- x> = 6 x y+ y3

Out[41]=

oui42l= | 1

1k 4
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n4si= f =y +Sin[y]-xA2-x
Plot3D[f, {x, -3, 3}, {y, -3, 3}, BoxRatios » {1, 1, 1}]
ContourPlot[f == 0, {x, -2, 2}, {y, -2, 2}]

ousle —x = X% + y + Sin[y]
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nael= F=yr3+xA3-3x*xy-3
Plot3D[f, {x, -3, 3}, {y, -3, 3}, BoxRatios » {1, 1, 1}]
ContourPlot[f == 0, {x, -2, 2}, {y, -2, 2}]

outasl- =3+ x> =3 x y+y3

Out[47]=

0r 4

Out[48]=

-2 4
L IR L L
-2 -1 0

—_
n



naol= f =Log[Xx+y]l-X-y+X*xy+x"2+y"2
Plot3D[f, {x, -3, 3}, {y, -3, 3}, BoxRatios » {1, 1, 1}]
ContourPlot[f == 0, {x, -2, 2}, {y, -2, 2}]

Out[49]= —x+x2—y+xy+y2+ Log[x +y]

Out[50]=

Out[51]=

-2 4

173itnb | 7
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nzel= £ =(xA2)AM 1/ 3)+(yr2)r(1/3)-8
Plot3D[f, {x, -30, 30}, {y, —-30, 30}, BoxRatios = {1, 1, 1}]
ContourPlot[f == 0, {x, —-30, 30}, {y, —30, 30}]

ou76l- —8 + (X2)1/3 + (y2)1/3

out[77)=

20 -

Out[78]=

-20 |-

-30 |-




nroi= f=Sin[x*y]+xA2+yAr2-1
Plot3D[f, {x, -3, 3}, {y, -3, 3}, BoxRatios - {1, 1, 1}]
ContourPlot[f == 0, {x, -2, 2}, {y, -2, 2}]

ou7gl =1+ x2 + y2 +Sin[xy]

out[80]=

Out[81]= or _

-2 4
L IR L L

173itnb | 9
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nfig= = Sin[x* z] + Sin[y * z] - Sin[x * y]
ContourPlot3D[f == 0, {x, -2, 2}, {y, -2, 2}, {z, -2, 2}, ContourStyle - Directive[Blue]]

outiigl= =Sin[x y]+ Sin[x z] + Sin[y z]

out[119]=




173ifnb | 11
inpi2s)= = xA2 Exp[y]l -y * z* Exp[x]

ContourPlot3D[f == 0, {x, -2, 2}, {y, -2, 2}, {z, -2, 2}, ContourStyle - Directive[Orange]]

Out[123]= ey X2 - BX yz

Out[124]=

(*2%)

nfi2s)= f = Sqrt[x]+Sqrt[y]-1
Plot3D[f, {x, -3, 3}, {y, -3, 3}, BoxRatios -» {1, 1, 1}]
ContourPlot[f == 0, {x, -2, 2}, {y, -2, 2}]

out[125]1= =1 + \’x + \’y
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Out[126]=

out[127]=

—2 4

(%3%)



n2g)= F=3XA2-2X*xy+yAr2+4x-6y-11
Plot3D[f, {x, -3, 3}, {y, -3, 3}, BoxRatios » {1, 1, 1}]
ContourPlot[f == 0, {x, -2, 2}, {y, -2, 2}]

Out[128]= —ll+4x+3x2—6y—2xy+y2

Out[129]=

Out[130]=

LN ]

(%4x)

173itnb | 13
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nf4as= F=yA3+2y-Sin[x]+3
Plot3D[f, {x, -6, 6}, {y, -6, 6}, BoxRatios - {1, 1, 1}]
ContourPlot[f == 0, {x, -2, 2}, {y, -2, 2}]

Ouff14gl= 3+2y+ y3 - Sin[x]

200

100

Out[144]=
-100

—200

Out[145]=

2 4




